LAB SKILLS PRACTICE.

1. What does it mean to say that a result is accurate? -
AN OCCoroe Yesuw is an indication of how close 4o Hha

Octepred Nodve oLy Yesuttis.

2. What determines the precision of a data set? A measurement?
"W\e recision o{l o doda sep 13 an indicakron o@%uz COﬁS\S‘&vr%
datasex (how close 4o points are). "A measurement’s
reL\S\OY\ S dgdermined buy W 0S8V

re ment Tool.

3. What is a manipulate variable? Respondmg variable?

-The manipuldted Vartolole 15 Wne Naiable porposefilly Changed 10
e\icik O eSOtk (could G ko doble before \ab)

The res?ono\mg Noxiaple is what S measured in response To Change i mManipuaed
4. Which variable is graphed on the vertical axis? Horizontal axis? Ve.

Voviap

» Porizonol ois = monipuladed variable
- Nexticod owis = Yesponding Nariable

PRACTICE WITH DISPLACEMENT-TIME GRAPHS:

5. Which of the graphs shows that one of runners started 10 yards further ahead of the

other? Explain your answer.

40 /A . ' 40
= \%> TRl - 2 Ak 1=0s,
z < Groph A
(5]
. 5 Shouwd o, YO
[ = [ 5]
% ‘—E‘:_ @ Om ond
& s e e
_ . £ AR Sl
Time (sec) - Time (sec) © 10m.
40
= =
Q D
5 g
s s
5 5
A a

{

Time (sec)

Time (sec)



6. In which of the following graphs below are both runners moving at the same
velocity? Explain your answer.
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7. The displacement-time graphs below represent the motion of a car. Match the
descriptions with the graphs. Explain your answers.

Descriptions:
I.  The car is stopped

II. The caris traveling at a constant velocity
JII. The speed of the car is decreasing |
IV. The car is coming back to its starting position - AA_
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Graph A matches description 1L pecause _the s\ope 1S Consant

Graph B matches description X+ ¥ because e Slope is

Graph C matches description _L._because “in¢ S\O?Q‘ \S ZeXD

Graph D matches description 1L because e ‘iﬂ\b\\“ﬁe‘: decreasesS with-ime.
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8. Starting 7m away from the detector, stand still for 3 seconds, then...
Walk away from the detector with a constant speed of 5 ™/ for 4 seconds, then...
Stand still for 2 seconds, then...
Walk toward the detector at a constant 3 m/; for 3 seconds

Groph 4.+ Digplacement of Jogoper With Time
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9. Walk away from the detector with constant speed of 2 m/ for 4 seconds, then...

Stand still for 5 seconds, then...

Walk towards the detector with a constant speed of 3 =/ for 2 seconds, then...

Slow down to a constant speed of 1 m/; for 2 seconds

Groph 2: Displacement of Walkey Witlh Time.
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10. The Velocity-time graphs below represent the motion of a car. Match the
descriptions with the graphs. Explain your answers.

Descriptions: AV
I. The car is stopped S\oPe = AL
II. The car is traveling at a constant velocity d\\ \
. The caris accelerating | ' y
-ofON

IV. The car is slowing down Okcog}?i@iu_ 5
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Look at the graph below. It shows how three runners ran a 100.0 meter race.

Albert Bob Chariie

Displacement (m)

12

Time (sec)

11. Which runner won the race? Explain your answer.

Albert: e reachhed the finsh line (100m) i only
\Z seconds (Bob* Ms, Charlie -> Vs)
12. Which runner stopped for a rest? Explain your answer. .
Charlie: his displacement Wos B0m from 7—12s.
(WS position Loas e some for 5 seconds)
13. How long was the stop? Explain your answer.

O seconds:  siope i Zexo from $- 13s

14. How long did Bob take to complete the race? Explain your answer.

Bao finien in Yseconds @ (1 1eo)

15. Calculate Albert’s average velocity. (Figure the displacement and the time first!)

Total displacament = 1000mM e Ad_100.0m)
Todal ¥ime = V28 T AT s

X'i(’ = %.5‘“)51

(V)




The graph below shows how the velocity of a bus changes during part of a journey
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Fill in the blanks by choosing from the options below for each segment:

e Speeding up (accelerating) e Moving at a constant velocity
e Slowing down (decelerating) e Atrest

16. Segment 0-A: The bus is BDQQQ\\‘( 14 UD

a. Its velocity changes from Qm/b to Q\’YI/ S in__ D seconds
17. Segment A-B: The bus is W\D\J\‘(\g ot oL fonstant \{’Q\QC\‘J(\[

a. Itsvelocity is \OM/S for ) seconds
18. Segment B-C: The bus is S\O\N\T\C\ AouoN

a. Its velocity changes from \Om/ to (¢St in e seconds
19. Segment C-D: The bus is Ot yest

a. Its velocity is Om/S for__ 9 seconds
20. Segment D-E: The bus is %DQP(\\Y\O\ UD

a. Its velocity changes from (\mlg to IZ)M/ in D seconds

21. Segment E-F: The bus is_(\ONING. Q% Constont ve. (mkur
F) / S for )

a. Its velocity is L% seconds

(12)



